Transnational Journal of Mathematical Analysis and Applications Vol. 9, Issue 1, 2021, Pages 67-85 ISSN 2347-9086 Published Online on January 29, 2022 © 2021 Jyoti Academic Press http://jyotiacademicpress.org

ON THE RATIO OF THE ARITHMETIC AND GEOMETRIC MEANS OF THE FIRST *n* TERMS OF SOME GENERAL SEQUENCES

REZA FARHADIAN and RAFAEL JAKIMCZUK

Department of Statistics Lorestan University Khorramabad Iran e-mail: farhadian.reza@yahoo.com División Matemática Universidad Nacional de Luján Buenos Aires Argentina

e-mail: jakimczu@mail.unlu.edu.ar

Abstract

The aim of this note is to study the limit behaviour of the ratio of the arithmetic mean and the geometric mean of the first n terms of some general sequences. In fact, this note generalizes some of the previously known results and extends the results to several well-known sequences in number theory.

²⁰²⁰ Mathematics Subject Classification: 11A99, 11B99.

Keywords and phrases: integer sequences, arithmetic mean, geometric mean, primes, asymptotic expansions.

Received August 02, 2021

1. Introduction

Suppose that a_n is a sequence of positive real numbers and let

$$A_n = A(a_1, a_2, \dots, a_n),$$

and

$$G_n = G(a_1, a_2, \dots, a_n)$$

denote the arithmetic and geometric means of the numbers a_1, a_2, \ldots, a_n , respectively.

The limiting behaviour of the ratio of A_n and G_n have attracted the attention of many mathematicians in recent years, and interesting results have been obtained for some special sequences of positive numbers. For example, consider the sequence of the first n positive integers. The well-known Stirling's approximation $n! \sim \frac{\sqrt{2\pi}n^n \sqrt{n}}{e^n}$ implies that $\frac{A(1-2)}{e^n} = n$

$$\lim_{n \to \infty} \frac{A(1, 2, \dots, n)}{G(1, 2, \dots, n)} = \frac{e}{2}$$

As a generalization of this limit, Kubelka [11] proved that for any $\alpha > 0$,

$$\lim_{n \to \infty} \frac{A(1^{\alpha}, 2^{\alpha}, \dots, n^{\alpha})}{G(1^{\alpha}, 2^{\alpha}, \dots, n^{\alpha})} = \frac{e^{\alpha}}{\alpha + 1}.$$

Recently, similar results have been considered for the sequence p_n of prime numbers. In his paper [3], Hassani established some inequalities and asymptotic formulas for the ratio $\frac{A(p_1, p_2, ..., p_n)}{G(p_1, p_2, ..., p_n)}$ that led to

$$\lim_{n \to \infty} \frac{A(p_1, p_2, \dots, p_n)}{G(p_1, p_2, \dots, p_n)} = \frac{e}{2}.$$

For more inequalities and asymptotic formulas for the ratio $\frac{A(p_1, p_2, ..., p_n)}{G(p_1, p_2, ..., p_n)}, \text{ see also [1].}$

Our interest in this paper is to show that the ratio $\frac{e^{\alpha}}{\alpha+1}$ (with $\alpha > 0$) appears surprisingly in studying the limit behaviour of the ratio of the arithmetic and geometric means of the first n terms of some general sequences. Furthermore, we show that the general results of this paper apply to some well-known sequences in number theory, for example to the sequence of k-free numbers ($k \ge 2$), the sequence of k-full numbers ($k \ge 2$), the sequence of numbers with $k \ge 2$ prime factors in their prime factorization and the sequence of perfect powers.

2. Main Results

Theorem 2.1. Let A_n be a strictly increasing sequence of positive integers such that

$$A_n \sim c n^s, \tag{1}$$

where c > 0 and $s \ge 1$ are fixed real numbers. The following limits hold for all $\alpha > 0$

$$\lim_{n \to \infty} \frac{\frac{\sum_{i=1}^{n} A_{i}^{\alpha}}{n}}{\left(\prod_{i=1}^{n} A_{i}^{\alpha}\right)^{\frac{1}{n}}} = \frac{e^{\alpha s}}{\alpha s + 1}, \qquad (2)$$
$$\lim_{x \to \infty} \frac{\frac{\sum_{A_{i} \le x} A_{i}^{\alpha}}{\psi(x)}}{\left(\prod_{A_{i} \le x} A_{i}^{\alpha}\right)^{\frac{1}{\psi(x)}}} = \frac{e^{\alpha s}}{\alpha s + 1}, \qquad (3)$$

where $\psi(x)$ is the counting function of the sequence. Namely, $\psi(x) = \sum_{A_i \le x} 1$.

Proof. We have the following general proposition [13, page 332]. Let $\sum_{i=1}^{\infty} a_i$ and $\sum_{i=1}^{\infty} b_i$ be two series of positive terms such that $\frac{a_i}{b_i} \to 1$. If $\sum_{i=1}^{\infty} b_i$ diverges, then we have $\frac{\sum_{i=1}^{n} a_i}{\sum_{i=1}^{n} b_i} \to 1$.

Therefore, we have (see (1))

$$\sum_{i=1}^{n} A_i^{\alpha} \sim c^{\alpha} \sum_{i=1}^{n} i^{\alpha s} = c^{\alpha} \int_0^n x^{\alpha s} dx + O(n^{\alpha s}) = \frac{c^{\alpha} n^{\alpha s+1}}{\alpha s+1} + O(n^{\alpha s})$$
$$= \frac{c^{\alpha} n^{\alpha s+1}}{\alpha s+1} + O(n^{\alpha s}) \sim \frac{c^{\alpha} n^{\alpha s+1}}{\alpha s+1} = \frac{(cn^s)^{\alpha} n}{\alpha s+1} \sim \frac{A_n^{\alpha} n}{\alpha s+1}.$$
(4)

Equation (1) gives

$$\ln A_n = \ln c + s \ln n + o(1), \tag{5}$$

and the Stirling's formula $n! \sim \frac{\sqrt{2\pi}n^n \sqrt{n}}{e^n}$ gives

$$\sum_{i=1}^{n} \ln i = n \ln n - n + o(n).$$
(6)

Equations (5) and (6) give

$$\sum_{i=1}^{n} \ln A_i = n \ln c + s(n \ln n - n + o(n)) + o(n)$$
$$= n \ln c + sn \ln n - sn + o(n).$$

Hence

$$\ln\left(\prod_{i=1}^{n}A_{i}\right)^{\frac{1}{n}} = \ln c + s\ln n - s + o(1),$$

and consequently

$$\left(\prod_{i=1}^n A_i\right)^{\frac{1}{n}} \sim cn^s e^{-s} \sim \frac{A_n}{e^s},$$

and

$$\left(\prod_{i=1}^{n} A_{i}^{\alpha}\right)^{\frac{1}{n}} \sim c^{\alpha} n^{\alpha s} e^{-\alpha s} \sim \frac{A_{n}^{\alpha}}{e^{\alpha s}}.$$
(7)

Equations (4) and (7) give Equation (2).

Since $\psi(A_n) = n$, Equation (4) can be written in the form

$$\sum_{A_i \le A_n} A_i^{\alpha} \sim \frac{\psi(A_n) A_n^{\alpha}}{\alpha s + 1}.$$
(8)

If $x \in [A_n, A_{n+1})$, then $\sum_{A_i \leq A_n} A_i^{\alpha} = \sum_{A_i \leq x} A_i^{\alpha}$ and consequently we have (see (8))

$$1 \leftarrow \frac{\sum_{A_i \le A_n} A_i^{\alpha}}{\frac{\psi(A_n)A_{n+1}^{\alpha}}{\alpha s + 1}} \le \frac{\sum_{A_i \le x} A_i^{\alpha}}{\frac{\psi(x)x^{\alpha}}{\alpha s + 1}} \le \frac{\sum_{A_i \le A_n} A_i^{\alpha}}{\frac{\psi(A_n)A_n^{\alpha}}{\alpha s + 1}} \to 1$$

since, by Equation (1), $A_{n+1} \sim A_n$. Therefore by the compression theorem we have

$$\sum_{A_i \le x} A_i^{\alpha} \sim \frac{\psi(x)x^{\alpha}}{\alpha s + 1}.$$
(9)

Analogously if $x \in [A_n, A_{n+1})$ Equation (7) gives

$$\begin{split} \frac{1}{e^{\alpha s}} & \leftarrow \frac{\left(\prod_{A_i \leq A_n} A_i^{\alpha}\right)^{\frac{1}{p(A_n)}}}{A_{n+1}^{\alpha}} \leq \frac{\left(\prod_{A_i \leq x} A_i^{\alpha}\right)^{\frac{1}{p(x)}}}{x^{\alpha}} \\ & \leq \frac{\left(\prod_{A_i \leq A_n} A_i^{\alpha}\right)^{\frac{1}{p(A_n)}}}{A_n^{\alpha}} \to \frac{1}{e^{\alpha s}}, \end{split}$$

and therefore we have

$$\lim_{x \to \infty} \frac{\left(\prod_{A_i \le x} A_i^{\alpha}\right)^{\frac{1}{\psi(x)}}}{x^{\alpha}} = \frac{1}{e^{\alpha s}}.$$
 (10)

Equations (9) and (10) give Equation (3). The theorem is proved.

Theorem 2.2. The equation

$$A_n \sim cn^s \tag{11}$$

is equivalent to

$$\psi(x) \sim \frac{x^{\frac{1}{s}}}{c^{\frac{1}{s}}}.$$
(12)

Proof. Clearly (12) implies (11) if we substituting $x = A_n$ into (12). On the other hand, Equation (11) can be written in the form $A_n \sim c(\psi(A_n))^s$. That is, $\frac{\psi(A_n)}{\frac{1}{s}} \to 1$, and consequently if $x \in [A_n, A_{n+1})$ $\frac{A_n^s}{\frac{1}{s}}$

we have

$$1 \leftarrow \frac{\psi(A_n)}{\frac{1}{2}} \le \frac{\psi(x)}{c^s} \le \frac{\psi(A_n)}{\frac{1}{2}} \to 1,$$
$$\frac{\frac{A_{n+1}^s}{\frac{1}{c^s}}}{\frac{1}{c^s}} = \frac{\frac{X^s}{\frac{1}{c^s}}}{\frac{1}{c^s}}$$

since $A_n \sim A_{n+1}$. Therefore, by the compression theorem we obtain (12). That is, (11) implies (12). The theorem is proved.

Example 2.3. The sequence $A_n = n$ satisfies Theorem 2.1, since $A_n = n \sim n$. In this case we obtain the result by Kubelka (see the introduction)

$$\lim_{n \to \infty} \frac{\frac{1^{\alpha} + 2^{\alpha} + \dots + n^{\alpha}}{n}}{(1^{\alpha} 2^{\alpha} \cdots n^{\alpha})^{\frac{1}{n}}} = \frac{e^{\alpha}}{\alpha + 1}$$

since in this case s = 1.

In general, all sequence A_n with positive density $\rho > 0$, that is, $\psi(x) \sim \rho x$, satisfies Theorem 2.1. For example, the sequence of squarefree numbers and in general the sequence of k-free numbers $(k \ge 2)$, since (as it is well-known) they have positive density $\frac{1}{\zeta(k)}$, where $\zeta(k)$ denotes the zeta function (see, for example, [8]). The sequence of squarefull numbers and in general the sequence of k-full numbers $(k \ge 2)$ also satisfies Theorem 2.1, since if $\psi(x)$ is the number of k-full numbers not exceeding x then (as it is well-known) $\psi(x) \sim cx^{\frac{1}{k}}$, where the constant c depends of k (see, for example, [9]). The sequence $A_n = P_n$ of perfect powers also satisfies Theorem 2.1, since (as it is well-known) $P_n \sim n^2$ (see, for example, [10]) etc.

The following definition was established in [4].

Definition 2.4. Let f(x) be a function defined on the interval $[a, \infty)$ such that f(x) > 0, $\lim_{x\to\infty} f(x) = \infty$ and with continuous derivative f'(x) > 0. The function f(x) is of slow increase if and only if the following condition holds:

$$\lim_{x \to \infty} \frac{xf'(x)}{f(x)} = 0.$$
(13)

Typical functions of slow increase are $\ln x$, $\ln^2 x$, $\ln \ln x$, $\frac{\ln x}{\ln \ln x}$, etc.

The functions f(x) of slow increase have the following property (see [4]): for all $\alpha > 0$ the following limit holds:

$$\lim_{x\to\infty}\frac{f(x)}{x^{\alpha}}=0.$$

Besides, if f(x) is of slow increase then cf(x) and $f(x)^{\alpha}$ are also functions of slow increase, where c > 0 and $\alpha > 0$ are real numbers (see [4]).

Theorem 2.5. Let A_n be a strictly increasing sequence of positive integers such that

$$A_n \sim n^s f(n), \tag{14}$$

where $s \ge 1$ is a real number and f(x) is a function of slow increase. The following limits hold for all $\alpha > 0$

$$\lim_{n \to \infty} \frac{\frac{\sum_{i=1}^{n} A_{i}^{\alpha}}{n}}{\left(\prod_{i=1}^{n} A_{i}^{\alpha}\right)^{\frac{1}{n}}} = \frac{e^{\alpha s}}{\alpha s + 1},$$
(15)

$$\lim_{x \to \infty} \frac{\underbrace{\sum_{A_i \le x} A_i^{\alpha}}_{\psi(x)}}{\left(\prod_{A_i \le x} A_i^{\alpha}\right)^{\frac{1}{\psi(x)}}} = \frac{e^{\alpha s}}{\alpha s + 1}, \qquad (16)$$

where $\psi(x)$ is the counting function of the sequence. Namely, $\psi(x) = \sum_{A_i \le x} 1$.

Proof. In [4, Theorem 22] is proved the following formula:

$$\sum_{i=1}^{n} A_i^{\alpha} \sim \frac{n A_n^{\alpha}}{\alpha s + 1}, \qquad (17)$$

and in [4, Theorem 24] is proved the following formula:

$$\lim_{n \to \infty} \frac{\left(\prod_{i=1}^{n} A_{i}^{\alpha}\right)^{\frac{1}{n}}}{A_{n}^{\alpha}} = \frac{1}{e^{\alpha s}}.$$
(18)

Equations (17) and (18) give Equation (15).

In [4, Theorem 22] is also proved the following formula:

$$\sum_{A_i \le x} A_i^{\alpha} \sim \frac{\psi(x)x^{\alpha}}{\alpha s + 1}, \qquad (19)$$

and the formula

$$\lim_{x \to \infty} \frac{\left(\prod_{A_i \le x} A_i^{\alpha}\right)^{\frac{1}{p(x)}}}{x^{\alpha}} = \frac{1}{e^{\alpha s}}$$
(20)

can be proved from Equation (18) in the same way as in Theorem 1.1. Equations (19) and (20) give Equation (16). The theorem is proved. **Example 2.6.** Let p_n be the *n*-th prime number. The prime number theorem is $p_n \sim n \ln n$. Therefore the sequence of primes $A_n = p_n$ satisfies Theorem 2.5. In this case s = 1 and $f(x) = \ln x$. Consequently, we have the limits (where $\pi(x)$ denotes the prime counting function)

$$\lim_{n \to \infty} \frac{\frac{\sum_{i=1}^{n} p_{i}^{\alpha}}{n}}{\left(\prod_{i=1}^{n} p_{i}^{\alpha}\right)^{\frac{1}{n}}} = \frac{e^{\alpha}}{\alpha+1},$$

$$\lim_{x \to \infty} \frac{\frac{\sum_{p_{i} \le x} p_{i}^{\alpha}}{\pi(x)}}{\left(\prod_{p_{i} \le x} p_{i}^{\alpha}\right)^{\frac{1}{\pi(x)}}} = \frac{e^{\alpha}}{\alpha+1},$$
(21)
(21)

Equation (21) with $\alpha = 1$ was proved by Hassani (see the Introduction).

The sequence A_n of numbers with k prime factors in their prime factorization, where k is an arbitrary but fixed positive integer, also satisfies Theorem 2.5 (see [4, Example 11]) etc.

In the following theorem we obtain asymptotic expansions for (21) and (22).

Theorem 2.7. Let $\alpha > 0$ be and let *m* be an arbitrary but fixed positive integer.

The following asymptotic expansion holds:

$$\frac{\sum_{p_i \le x} p_i^{\alpha}}{\pi(x)} = \frac{e^{\alpha}}{\alpha + 1} + \sum_{h=1}^{m-1} \frac{b_{\alpha,h}}{\ln^h x} + o\left(\frac{1}{\ln^{m-1} x}\right),$$
(23)

where a method for to determinate the coefficients $b_{\alpha,h}$, depending of α , is given below (in the proof).

The following asymptotic expansion holds.

$$\frac{\sum_{i=1}^{n} p_{i}^{\alpha}}{n} = \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{m-1} \frac{f_{h}(\ln\ln n)}{\ln^{h} n} + o\left(\frac{1}{\ln^{m-1} n}\right)$$
(24)

where the $f_h(x)$ are polynomials. A method for to determinate the polynomials $f_h(x)$ is given below (in the proof).

Proof. We have the following Taylor's polynomial

$$e^{x} = 1 + \sum_{k=1}^{n} \frac{x^{k}}{k!} + o(x^{n}) \quad (x \to 0).$$
 (25)

On the other hand, we have the following asymptotic expansion (see either [6] or [7]):

$$\sum_{p \le x} p^{\alpha} = \sum_{k=1}^{m} \frac{(k-1)! \, x^{\alpha+1}}{(\alpha+1)^k \, \ln^k \, x} + o\left(\frac{x^{\alpha+1}}{\ln^m \, x}\right)$$
(26)

We also have the following formula well-known [14], where a is a positive constant.

$$\vartheta(x) = \sum_{p \le x} \log p = x + O\left(\frac{x}{e^a \sqrt{\ln x}}\right) = x + o\left(\frac{x}{\ln^{m+1} x}\right),\tag{27}$$

and the following Panaitopol's asymptotic expansion [12]:

$$\frac{1}{\pi(x)} = \frac{\ln x}{x} - \frac{1}{x} + \sum_{k=1}^{m} \frac{a_k}{x \ln^k x} + o\left(\frac{1}{x \ln^m x}\right),$$
(28)

where the coefficients a_k can be obtained recursively (see [12]).

Now, we have

$$M(x) = \frac{\sum_{p_i \le x} p_i^{\alpha}}{\pi(x)} = \frac{1}{\pi(x)} \left(\sum_{p \le x} p^{\alpha} \right) \exp\left(\frac{1}{\pi(x)} (-\alpha)\vartheta(x)\right).$$
(29)

Substituting (25), (26), (27) and (28) into (29) we obtain

$$\begin{split} M(x) &= \left(\sum_{k=1}^{m} \frac{(k-1)! \, x^{\alpha}}{(\alpha+1)^{k} \ln^{k} x} + o\left(\frac{x^{\alpha}}{\ln^{m} x}\right)\right) \left(\ln x - 1 + \sum_{k=1}^{m} \frac{a_{k}}{\ln^{k} x} + o\left(\frac{1}{\ln^{m} x}\right)\right) \\ &\exp\left((-\alpha) \left(\ln x - 1 + \sum_{k=1}^{m} \frac{a_{k}}{\ln^{k} x} + o\left(\frac{1}{\ln^{m} x}\right)\right)\right) \\ &= \left(\sum_{k=1}^{m} \frac{(k-1)!}{(\alpha+1)^{k} \ln^{k} x} + o\left(\frac{1}{\ln^{m} x}\right)\right) \left(\ln x - 1 + \sum_{k=1}^{m} \frac{a_{k}}{\ln^{k} x} + o\left(\frac{1}{\ln^{m} x}\right)\right) \\ &\times e^{\alpha} \exp\left((-\alpha) \sum_{k=1}^{m} \frac{a_{k}}{\ln^{k} x}\right) \left(1 + o\left(\frac{1}{\ln^{m} x}\right)\right) \\ &= e^{\alpha} \left(\frac{1}{\alpha+1} + \sum_{k=2}^{m} \frac{(k-1)!}{(\alpha+1)^{k} \ln^{k-1} x} + \left(\sum_{k=1}^{m-1} \frac{(k-1)!}{(\alpha+1)^{k} \ln^{k} x}\right) \\ &\times \left(-1 + \sum_{k=1}^{m-1} \frac{a_{k}}{\ln^{k} x}\right) + o\left(\frac{1}{\ln^{m-1} x}\right) \left(1 + \sum_{k=1}^{m-1} \frac{1}{h!} \left((-\alpha) \sum_{k=1}^{m-1} \frac{a_{k}}{\ln^{k} x}\right)^{h} + o\left(\frac{1}{\ln^{m-1} x}\right) \right) \end{split}$$

78

$$= e^{\alpha} \left(\frac{1}{\alpha+1} + \sum_{k=2}^{m} \frac{(k-1)!}{(\alpha+1)^k \ln^{k-1} x} + \left(\sum_{k=1}^{m-1} \frac{(k-1)!}{(\alpha+1)^k \ln^k x} \right) \right) \\ \times \left(-1 + \sum_{k=1}^{m-1} \frac{a_k}{\ln^k x} \right) \left(1 + \sum_{h=1}^{m-1} \frac{1}{h!} \left((-\alpha) \sum_{k=1}^{m-1} \frac{a_k}{\ln^k x} \right)^h \right) + o\left(\frac{1}{\ln^{m-1} x} \right) \\ = \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{m-1} \frac{b_{\alpha,h}}{\ln^h x} + o\left(\frac{1}{\ln^{m-1} x} \right).$$
(30)

That is, Equation (23).

We have the following Taylor's formula:

$$\frac{1}{1+x} = 1 + \sum_{k=1}^{n} (-1)^k x^k + o(x^n) \quad (x \to 0).$$
(31)

Cipolla [2] proved the following asymptotic expansion for $\ln p_n$, where p_n denotes the *n*-th prime number,

$$\ln p_n = \ln n + \ln \ln n + \sum_{i=1}^r \frac{g_i(\ln \ln n)}{\ln^i n} + o\left(\frac{1}{\ln^r n}\right), \tag{32}$$

where the $g_i(x)$ are polynomials of degree *i* and rational coefficients. Cipolla [2] gives a recursive method to obtain the polynomials $g_i(x)$.

Next, we obtain an asymptotic expansion for $\frac{1}{\ln p_n}$.

If we put

$$x = \frac{\ln \ln n}{\ln n} + \sum_{i=1}^{r} \frac{g_i(\ln \ln n)}{\ln^{i+1} n} + o\left(\frac{1}{\ln^{r+1} n}\right),\tag{33}$$

and use Equation (31) then we obtain

$$\frac{1}{\ln p_n} = \frac{1}{\ln n} \frac{1}{1+x}$$

$$= \frac{1}{\ln n} \left(1 - x + x^2 - \dots + (-1)^{r+1} x^{r+1} + (-1)^{r+2} x^{r+2} (1+o(1)) \right)$$

$$= \frac{1}{\ln n} \left(1 - x + x^2 - \dots + (-1)^{r+1} x^{r+1} + o\left(\frac{1}{\ln^{r+1} n}\right) \right)$$

$$= \frac{1}{\ln n} \left(1 + \sum_{i=1}^{r+1} (-1)^i \left(\frac{\ln \ln n}{\ln n} + \sum_{j=1}^r \frac{g_j (\ln \ln n)}{\ln^{j+1} n} \right)^i \right) + o\left(\frac{1}{\ln^{r+2} n} \right)$$

$$= \frac{1}{\ln n} + \sum_{i=1}^{r+1} \frac{h_i (\ln \ln n)}{\ln^{i+1} n} + o\left(\frac{1}{\ln^{r+2} n} \right), \qquad (34)$$

where the $h_i(x)$ are polynomials of rational coefficients. This is the asymptotic expansion for $\frac{1}{\ln p_n}$. That is,

$$\frac{1}{\ln p_n} = \frac{1}{\ln n} + \sum_{i=1}^{r+1} \frac{h_i(\ln \ln n)}{\ln^{i+1} n} + o\left(\frac{1}{\ln^{r+2} n}\right).$$
(35)

Substituting $x = p_n$ into (23) we obtain

$$\frac{\sum_{i=1}^{n} p_{i}^{\alpha}}{\left(\prod_{i=1}^{n} p_{i}^{\alpha}\right)} = \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{m-1} \frac{b_{\alpha,h}}{\ln^{h} p_{n}} + o\left(\frac{1}{\ln^{m-1} n}\right),$$
(36)

since $\ln p_n \sim \ln n$. Finally, substituting (35) (with r = m - 3) into (36) we find that

$$\frac{\sum_{i=1}^{n} p_{i}^{\alpha}}{\left(\prod_{i=1}^{n} p_{i}^{\alpha}\right)^{\frac{1}{n}}} = \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{m-1} b_{\alpha,h} \left(\frac{1}{\ln n} + \sum_{i=1}^{m-2} \frac{h_{i}(\ln \ln n)}{\ln^{i+1} n} + o\left(\frac{1}{\ln^{m-1} n}\right)\right)^{h} + o\left(\frac{1}{\ln^{m-1} n}\right) = \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{m-1} b_{\alpha,h} \left(\frac{1}{\ln n} + \sum_{i=1}^{m-2} \frac{h_{i}(\ln \ln n)}{\ln^{i+1} n}\right)^{h} + o\left(\frac{1}{\ln^{m-1} n}\right) = \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{m-1} \frac{f_{h}(\ln \ln n)}{\ln^{h} n} + o\left(\frac{1}{\ln^{m-1} n}\right),$$
(37)

where the $f_h(x)$ are polynomials. This is the asymptotic expansion (24) that we desired. The theorem is proved.

Example 2.8. We choose m = 3. Equation (30) becomes

$$\begin{split} \frac{\sum_{p_i \le x} p_i^{\alpha}}{\pi(x)} &= e^{\alpha} \left(\frac{1}{\alpha+1} + \sum_{k=2}^3 \frac{(k-1)!}{(\alpha+1)^k \ln^{k-1} x} \right. \\ &+ \left(\sum_{k=1}^2 \frac{(k-1)!}{(\alpha+1)^k \ln^k x} \right) \left(-1 + \sum_{k=1}^2 \frac{a_k}{\ln^k x} \right) \right) \\ &= \left(1 + \sum_{h=1}^2 \frac{1}{h!} \left((-\alpha) \sum_{k=1}^2 \frac{a_k}{\ln^k x} \right)^h \right) + o\left(\frac{1}{\ln^2 x} \right) \\ &= \frac{e^{\alpha}}{\alpha+1} + \frac{e^{\alpha} \alpha^2}{(\alpha+1)^2} \frac{1}{\ln x} + \frac{e^{\alpha} \alpha^2 (\alpha+3)^2}{2(\alpha+1)^3} \frac{1}{\ln^2 x} + o\left(\frac{1}{\ln^2 x} \right), \end{split}$$

since $a_1 = -1$ and $a_2 = -3$. Now, r = m - 3 = 0 and Equation (34) becomes

$$\frac{1}{\ln p_n} = \frac{1}{\ln n} \left(1 + \sum_{i=1}^n (-1)^i \left(\frac{\ln \ln n}{\ln n} \right)^i \right) + o\left(\frac{1}{\ln^2 n} \right)$$
$$= \frac{1}{\ln n} - \frac{\ln \ln n}{\ln^2 n} + o\left(\frac{1}{\ln^2 n} \right).$$

Finally, Equation (37) becomes

$$\frac{\sum_{i=1}^{n} p_{i}^{\alpha}}{\left(\prod_{i=1}^{n} p_{i}^{\alpha}\right)^{\frac{1}{n}}} = \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{2} b_{\alpha,h} \left(\frac{1}{\ln n} + \sum_{i=1}^{1} \frac{h_{i}(\ln \ln n)}{\ln^{i+1} n}\right)^{h} + o\left(\frac{1}{\ln^{2} n}\right)$$
$$= \frac{e^{\alpha}}{\alpha+1} + \sum_{h=1}^{2} b_{\alpha,h} \left(\frac{1}{\ln n} - \frac{\ln \ln n}{\ln^{2} n}\right)^{h} + o\left(\frac{1}{\ln^{2} n}\right)$$
$$= \frac{e^{\alpha}}{\alpha+1} + \frac{e^{\alpha} \alpha^{2}}{(\alpha+1)^{2}} \frac{1}{\ln n}$$
$$+ \frac{-\frac{e^{\alpha} \alpha^{2}}{(\alpha+1)^{2}} \ln \ln n + \frac{e^{\alpha} \alpha^{2} (\alpha+3)^{2}}{2(\alpha+1)^{3}}}{\ln^{2} n} + o\left(\frac{1}{\ln^{2} n}\right).$$

Theorem 2.9. Let A_n be a sequence of positive real numbers (in particular integers) such that

$$\frac{A_n}{A_{n-1}} \sim C n^{\alpha} f(n)^{\beta}, \tag{38}$$

where C > 0, $\alpha > 0$ and β are fixed real numbers and f(x) is a function of slow increase.

The following limit holds.

$$\lim_{n \to \infty} \frac{\frac{A_1}{A_0} + \frac{A_2}{A_1} + \dots + \frac{A_n}{A_{n-1}}}{\left(\frac{A_1}{A_0} + \frac{A_2}{A_1} + \dots + \frac{A_n}{A_{n-1}}\right)^{\frac{1}{n}}} = \frac{e^{\alpha}}{\alpha + 1}.$$
(39)

Proof. In [5, Theorem 5] was proved the formula

$$\frac{\left(\frac{A_1}{A_0}\frac{A_2}{A_1}\cdots\frac{A_n}{A_{n-1}}\right)^{\frac{1}{n}}}{\frac{A_n}{A_{n-1}}} \to \frac{1}{e^{\alpha}}.$$
(40)

On the other hand, we have (L'Hospital's rule and (13))

$$\lim_{x \to \infty} \frac{\frac{f_a^x t^\alpha f(t)^\beta dt}{x^{\alpha+1}}}{\frac{x^{\alpha+1}}{\alpha+1} f(x)^\beta} = 1.$$

Note that the function $Cx^{\alpha}f(x)^{\beta}$ is strictly increasing from a certain positive integer a and $\lim_{x\to\infty} Cx^{\alpha}f(x)^{\beta} = \infty$. Therefore we have

$$\frac{A_1}{A_0} + \frac{A_2}{A_1} + \dots + \frac{A_n}{A_{n-1}} \sim \sum_{i=1}^n Ci^\alpha f(i)^\beta = \sum_{i=1}^{\alpha-1} Ci^\alpha f(i)^\beta + \sum_{i=\alpha}^n Ci^\alpha f(i)^\beta$$
$$= \sum_{i=1}^{\alpha-1} Ci^\alpha f(i)^\beta + \int_a^n Cx^\alpha f(x)^\beta dx + O\left(n^\alpha f(n)^\beta\right)$$
$$\sim C \frac{n^{\alpha+1}}{\alpha+1} f(n)^\beta \sim \frac{A_n}{A_{n-1}} \frac{n}{\alpha+1}.$$
(41)

Equations (40) and (41) give Equation (39). The theorem is proved.

Example 2.10. Let us consider the sequence B_n of Bell numbers. It is well-known (see, for instance, [5]) that $\frac{B_n}{B_{n-1}} \sim \frac{n}{\ln n}$. Therefore Theorem 2.9 is applicable and we have

$$\lim_{n \to \infty} \frac{\frac{B_1}{B_0} + \frac{B_2}{B_1} + \dots + \frac{B_n}{B_{n-1}}}{\left(\frac{B_1}{B_0} \frac{B_2}{B_1} \dots \frac{B_n}{B_{n-1}}\right)^{\frac{1}{n}}} = \frac{e}{2}$$

References

 C. Axler, On the arithmetic and geometric means of the first n prime numbers, Mediterranean Journal of Mathematics 15(3) (2018); Article 93.

DOI: https://doi.org/10.1007/s00009-018-1137-5

- [2] M. Cipolla, La determinazione assintotica dell' n^{imo} numero primo, Rendiconto dell'Accademia delle Scienze Fisiche e Matematiche: Serie 3 8 (1902), 132-166.
- [3] M. Hassani, On the ratio of the arithmetic and geometric means of the prime numbers and the number e, International Journal of Number Theory 9(6) (2013), 1593-1603.

DOI: https://doi.org/10.1142/S1793042113500450

- [4] R. Jakimczuk, Functions of slow increase and integer sequences, Journal of Integer Sequences 13(1) (2010); Article 10.1.1.
- [5] R. Jakimczuk, Integer sequences, functions of slow increase, and the Bell numbers, Journal of Integer Sequences 14(5) (2011); Article 11.5.8.
- [6] R. Jakimczuk, Sums of primes: An asymptotic expansion, International Journal of Contemporary Mathematical Sciences 9(16) (2014), 761-765.

DOI: https://doi.org/10.12988/ijcms.2014.411115

- [7] R. Jakimczuk, Generalization of some sums on primes and asymptotic expansions, Transnational Journal of Mathematical Analysis and Applications 9(1) (2021), 23-32.
- [8] R. Jakimczuk, A simple proof that the square-free numbers have density $6/\pi^2$, Gulf Journal of Mathematics 1(2) (2013), 85-88.
- [9] R. Jakimczuk, The kernel of powerful numbers, International Mathematical Forum 12(15) (2017), 721-730.

DOI: https://doi.org/10.12988/imf.2017.7759

ON THE RATIO OF THE ARITHMETIC AND GEOMETRIC ... 85

- [10] R. Jakimczuk, On the distribution of perfect powers, Journal of Integer Sequences 14(8) (2011); Article 11.8.5.
- [11] R. P. Kubelka, Means to an end, Mathematics Magazine 74(2) (2001), 141-142.
 DOI: https://doi.org/10.1080/0025570X.2001.11953052
- [12] L. Panaitopol, A formula for $\pi(x)$ applied to a result of Koninck-Ivić, Niew Archief Voor Wiskunde 5/1 (2000), 55-56.
- [13] J. Rey Pastor, P. Pi Calleja and C. Trejo, Análisis Matemático, Volume 1, Kapelusz, 1969.
- [14] J. B. Rosser and L. Schoenfeld, Approximate formulas for some functions of prime numbers, Illinois Journal of Mathematics 6(1) (1962), 64-94.

DOI: https://doi.org/10.1215/ijm/1255631807